%

N

@m/

ACENT

D

N

@M

)

X

ASSEMBLY INSTRUCTION

MODEL : BST 5028-S5 - EVOQUE NACHTTAFEL / TABLE DE NUIT

SOFT,DRY CLOTH CHEMICAL HEAT KEEP DRY HANDLE WITH CARE DO NOT USE KNIFE

Ll
wlA B [c [D [E [F [6 [H [I ]3] KL M N O o o |P m
< 12MM 16MM 20MM 25MM 35MM OMM JJ2 /‘ g > “.“"‘
O | pLastic| cs B cB CcB HANDLE P/H
X | DOWEL | SCREW | SCREW | SCREW | SCREW | SCREW | CSK CAP| POWER ABS DRAWER VSC 12 SCREW
< | M8X25 M3.5X12 | M3.5X16| M4X20 | M4X25 | M4X35 M6X40 | NAIL6/8| CAP MINIFIX 5654 PIN 56MM ALLENKEY | PLASTICPIN | METAL BRACKET (160MM) M4X40 DRAWER SLIDE 14"
T | 1X14 | 1X24 | 1X8 |1X16| 1X4 | 1X16| 1X4 |1X30|1X15| 11 SETS 1X8 1X1 1X4 1X2 1X2 1X4 2 SETS

Part List STEP 1 - Dowel fitting STEP 2 STEP 3 STEP 4 STEP 5 STEP 6

ON-
unm

- 1

| (@]
&

@
: >
= /

&y
BOTTOM VIEW

@%

LEFT VIEW

RIGHT VIEW

STEP 8

STEP 9

STEP 10

COMPLETED

PAGE 1/1



